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1. а) Решите уравнение

(4x2 + 16x+ 15)
(
cosx · cos

(π
2
+ x

)
− 0,5

)
= 0

б) Найдите все корни этого уравнения, принадлежащие отрезку
[
−2π;−π

2

]
.

2. а) Решите уравнение
62x−1 + 2 · 25x−0,5 = 16 · 30x−1

б) Найдите все корни этого уравнения, принадлежащие отрезку [0,5; 4] .

3. а) Решите уравнение

25 sin 5x + 61+sin 5x = 24sin 5x + 3 · 8
1
3
+sin 5x

б) Найдите все корни этого уравнения, принадлежащие промежутку
[
5π

2
;
7π

2

]
.

4. а) Решите уравнение
log22(4x

2) + 3 log0,5(8x) = 1

б) Найдите все корни этого уравнения, принадлежащие промежутку [0,15; 1,5] .

5. а) Решите уравнение
sin4 x

4
− cos4

x

4
= cos

(
x− π

2

)
б) Найдите все корни этого уравнения, принадлежащие промежутку

[
−3π

2
; π

]
.

6. а) Решите уравнение

log 1
2
(3 cos 2x− 2 cos2 x+ 5) = −2

б) Найдите все корни этого уравнения, принадлежащие промежутку
[
5π;

13π

2

]
.
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Ответы

1. а) −5

2
; −3

2
; −π

4
+ πk, k ∈ Z

б) −5π

4
; −5

2

2. а) 1; log1,2 2

б) 1; log1,2 2

3. а)
πk

5
, k ∈ Z

б)
13π

5
;
14π

5
; 3π;

16π

5
;
17π

5

4. а) 0,25; 4
√
8

б) 0,25

5. а) π + 2πk; −π

3
+ 4πk; −5π

3
+ 4πk, где k ∈ Z

б) −π; −π

3
; π

6. а)
π

4
+

π

2
k, k ∈ Z

б)
21π

4
;
23π

4
;
25π

4

2


